Principles of Economics I: Microeconomics - Final [2019/1/11]
Note: You have 170 minutes (10:20am-1:10pm), and there are 137 bonus 49 points; allocate your time wisely.

PartA(35%): “L - RAS BB FRA YL/ 27 /F 2T by % FE (R 4, 12/30/2018)
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1. (2%) Explain why results describes in the above news is not from a “sample” but the entire population?

2. (4%) Why would people with graduate degrees earn higher wages? List at least two possible reasons.

3. (5%) How does the governmental official debunk “degrees are useless”? Do you agree or disagree with
this argument? Explain.

4. (8%) Why would people in big companies command higher wages? List at least three possible reasons and
discuss which you think is more likely the case in Taiwan.

5. (6%) Why would people in the “electricity supply” industry command higher wages? List at least two
possible reasons and discuss which you think is more likely the case in Taiwan.

6. (5%) Explain how immigration of workers affects labor supply, labor demand, the marginal product of labor,
and the equilibrium wage of Taiwan. Do you think the country is better off with or without immigrants?

7. (5%) If by any chance a deadly disease spread in Taiwan, what kind of impact will be received by Taiwanese
workers? What will happen to its workers’ wage as well as the income received by land owners and capital?

Part B (35%): Excerpts from “Pacific trade pact takes off with tariffs cut in six nations”, Reuters (2018/12/29)?

...“The Comprehensive and Progressive Agreement for Trans-Pacific Partnership (CPTPP) provides New
Zealand with trade agreements for the first time with three significant economies: Japan, Canada and
Mexico,” Trade Minister David Parker said in a statement. “The CPTPP has the potential to deliver an
estimated NZ$222 million ($149.01 million) of tariff savings to New Zealand exporters annually once it is fully
in force.”



The pact came into effect on Sunday for Australia, New Zealand, Canada, Japan, Mexico and Singapore, with
Vietnam to follow on 14 January, Australia’s Department of Foreign Affairs and Trade said on its website.
Brunei, Chile, Malaysia and Peru will begin 60 days after they complete their ratification process. Investment
bank HSBC said in a press release that 90 percent of tariffs on goods in the first six countries were removed
on Sunday in the first round of cuts.

Australia is looking forward to favorable conditions for its agricultural exports including wheat, prompting
U.S. competitors to warn they will need help to compete. “Japan is generally a market where we seek to
maintain our strong 53 percent market share, but today we face an imminent collapse,” U.S. Wheat
Associates President Vince Peterson told a public hearing in Washington on Dec. 10. “In very real terms, as
of April 1, 2019, U.S. wheat will face a 40 cent per bushel, or $14 per metric ton, resale price disadvantage to
Australia and Canada,” Peterson said, according to a transcript on the U.S. Wheat Associates website.

1. (9%) Draw a supply and demand diagram to analyze the effect of CPTPP on the wheat market in Japan.
How does equilibrium price and quantity, consumer surplus, producer surplus, and total surplus change?

2. (9%) Draw a supply and demand diagram to analyze the effect of CPTPP on the wheat market in
Austrialia. How does equilibrium price and quantity, consumer surplus, producer surplus, and total
surplus change?

3. (9%) Draw a supply and demand diagram to analyze the effect of CPTPP on the wheat market in the US.
How does equilibrium price and quantity, consumer surplus, producer surplus, and total surplus change?

4. (4%) What is the effect of CPTPP to US wheat producers described in the news? Do you think there is a
similar effect on Taiwanese farmers? Why or why not?

5. (4%) Why do you think Taiwan has not joined CPTPP? Explain your reasoning.

Part C (38%): Excerpts from “Kery & Tesla FFE BEIEAYIAEL © B Uber,” by RS (2018/12/26)3
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For ride-sharing services such as Uber and Lyft in Daiwan, first consider only working class consumers who
care only about getting to the destination on time.

1. (4%) Is ride-sharing service in this market a homogeneous product? Why or why not? What market
structure described in the textbook does this ride-sharing market closest resemble?

2. (6%) How do firms in this market determine prices and quantity? Assume there are many firms in the
market and/or anti-trust laws that rule out price-fixing and other collusive practices. Is the market
outcome efficient? Why or why not?

3. (6%) How do firms in this market determine prices and quantity if there are only a few firms (like the
case of Uber and Lyft) and there is no anti-trust law that rules out price-fixing or other collusive
practices? Is the market outcome efficient? Why or why not?



4. (4%) Comparing your answers of the two above questions, does it matter whether there are many or
few firms? Why or why not? What about anti-trust laws?

Next, consider a mixture of working-class consumers with bourgeois and literate-youth customers who care
not only about getting to the destination on time, but also other things such as class, safety and comfort.

5. (4%) Is ride-sharing service in this market a homogeneous product? Why or why not? What market
structure described in the textbook does this ride-sharing market closest resemble?

6. (2%) How does driving a Tesla affect the demand curve faced by Kerry’s Uber service? Explain.

7. (4%) How does Kerry determine prices and quantity? Note that Kerry receives not only the fixed fee
determined by Uber, but also tip from customers. Hence, prices are adjustable, not dictated by Uber.

8. (4%) Does your answer above depend on the number of Uber/Lyft drivers? Why or why not?

9. (4%) Is the long-run market outcome efficient? Explain.

Part D (29 + bonus 49%): The Presidential Election of National iDaiwan University

Consider the presidential election of National iDaiwan University, not to be confused with National Taiwan
University, which consists of five candidates: Walter, May, Ray, Chung, and Hsien. The recruiting committee
consists of 21 voters, and their preferences are listed below:

Voter Type #of voters 1% choice 2" choice 3" choice 4™ choice 5% choice
Type X 7 Chung Hsien Ray Walter May
Type Y 7 May Walter Ray Chung Hsien
Type Z 7 Walter May Ray Hsien Chung

The second-phase voting rule was as follows: “There are two rounds of voting. In round 1, each voter has to
cast at least 2 votes, in which the two top candidates advance to round 2. In round 2, each voter casts only 1
vote and whoever has more votes is the winner.” Ties are broken by holding run-offs among tied candidates.

1. (10%) Who will win in each of the possible one-on-one races of round 2? Circle your answers.

1-on-1race: Hsien Ray May Walter
Chung C/H C/R C/M C/W
Hsien - H/R H/M H/W
Ray - - R/M R/W
May - - - M/ W

2. (4%) Anticipating the above results of round 2, who would win if everyone votes sincerely, i.e. according
to their true preferences, in round 1 to cast only two votes? Who would be the final winner?

3. (5%) How would your above answers change if Type Y voters vote for their first and last choice, while
others still vote sincerely in round 1? Did this Type Y voters gain by deviating from sincere voting? Why
or why not?

4. (3%) Anticipating the above results of round 2, is sincere voting in round 1 a Nash equilibrium? Explain.

5. (5%) What if Type Y and Z voters vote for their first and last, while Type X voters vote sincerely in round 1?
Who would win in round 1? Who would be the final winner? Did Type Z voters gain by deviating from
sincere voting (knowing that Type Y voters are deviating)? Why or why not?

6. (2%) Explain why this is not surprising according to Kenneth Arrow.



Below are bonus questions that are beyond the scope of an introductory economics class. However, you
may want to attempt them for bonus points (and if you still have time in the exam).

Consider the follow new set of preferences for the committee:

Voter Type #ofvoters 1% choice 2" choice 3™ choice 4% choice 5% choice
Type X 6 Chung Hsien Ray Walter May
Type Y 7 May Walter Chung Hsien Ray
Type Z 8 Walter May Ray Hsien Chung
7. (bonus 10%) Who will win in each of the possible one-on-one races of round 2? Circle your answers.

10.

11.

12.

13.

14.

15.

16.

1-on-1 race: Hsien Ray May Walter
Chung C/H C/R C/Mm C/W
Hsien - H/R H/M H/W
Ray - - R/M R/W
May - - - M/W

(bonus 4%) Anticipating the above results of round 2, who would win if everyone votes sincerely in round
1 to approve at least half of the candidates? Who would be the final winner?

(bonus 5%) How would your above answers change if one of the Type Y voters strategically vote for their
first and last two choices, while all other voters still vote sincerely in round 1? Did this Type Y voter gain
by deviating from sincere voting? Why or why not?

(bonus 2%) Anticipating the above results of round 2, is sincere voting in round 1 a Nash equilibrium?
Explain.

(bonus 5%) What if two Type Z voters also strategically vote for their first and last two choices, knowing
that one Type Y voter is voting for their first and last two choices and all other voters still vote sincerely in
round 1? Who would win in round 1? Who would be the final winner? Did these two Type Z voters gain
by deviating from sincere voting? Why or why not?

(bonus 5%) Given the behavior in the previous question, what if two other Type Y voters (who voted
sincerely) now decide to strategically vote for their first and fourth choice, knowing that one Type Y voter
and two Type Z voters are voting for their first and last two choices and all other voters still vote sincerely
in round 1?7 Who would win in round 1? Who would be the final winner? Did these two Type Y voters
gain by deviating from sincere voting? Why or why not?

(bonus 5%) Given the behavior in the previous question, what if two other Type Z voters (who voted
sincerely) now decide to vote strategically in round 1---one for their first and last two choices and the
other for their first and last choice? Assume they believe that one Type Y voter and two Type Z voters are
voting for their first and last two choices, two Type Y voters are voting for their first and fourth choice, and
all other voters still vote sincerely in round 1? Who would win in round 1? Who would be the final winner?
Did these two Type Z voters gain by deviating from sincere voting? Why or why not?

(bonus 5%) Given the behavior in the previous question, consider the following collusive agreement
between one Type X and one Type Y voter for round 1: Type X voter votes for May instead of Ray in
exchange for Type Y voter to vote for Ray instead of Walter. Who would win in round 1? Who would be
the final winner? Is this agreement beneficial for Type Y voters? Why or why not?

(bonus 5%) Would the Type X voter find it beneficial to adhere to the agreement or renegade and still vote
for Ray? What would be the outcome in the case of renegading?

(bonus 3%) Which of the above scenarios might match the outcome described in the news?
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Appendix for Part A: Translation of “ X 5T4ER B B =i A0S © ZHI%EET - BAATE - ZEEE”

(omitted)...The Directorate-General of Budget, Accounting and Statistics (DGBAS) recently released the
"2017 median and distribution statistics of the total annual salary of employees in the industrial and service
industries." The official said that this is a statistic, not a survey sample, and is closer to reality. This statistic
takes the comprehensive income tax information of the Ministry of Finance, and compares it with monthly
salary reported for labor insurance, labor pension and health insurance. More than 7 million employees,
including foreign workers and some part-time workers, are documented. The target variable is total wages,
which includes the fixed monthly salary, overtime pay, year-end bonus, performance bonus and full-time
bonus, but does not include employer contributions to the labor and health insurance and labor pension.
The DGBAS ranks these total wages of employees from low to high, and the figure in the middle is the
“median.” The median in 2017 is NTS 470,000, that is, more than 3 million employees earn more than this
amount, while exactly the same amount earn less.

Comparing the median of each industry leads to three secrets for a higher pay. The first secret is “a graduate
degree.” People complain that getting a college degree in Taiwan is too easy these days and such degree is
useless. Officials say that this impression is entirely wrong in the workplace. The median salary of employees
with a college degree is NTS 515,000, much higher than the median salary of employees with high school
education, which is NTS 419,000. However, this college level salary is considerably lower than the median
salary of employees with a graduate degree, which is NTS 874,000. Judging from the difference of more
than NTS 300,000 a year, the investment of attending graduate school is quite worthwhile.

The second secret to high pay is “taking a job at a large company”, especially those with more than 500
employees. According to the statistics, in companies with more than 500 employees, the median salary is
NTS 659,000, significantly higher than that of NT$ 510,000 in companies with 100~299 employees and that
of NTS 526,000 in company with 300~499 employees. Meanwhile, the median salary is less than NYS
420,000 in companies with less than 100 employees.



The third secret is “TaiPower.” If you are not interested in TaiPower, the financial industry is the second best.
The median salary of the “electricity and gas supply industry” was higher than expected, reaching NTS 1.196
million. It is unbelievable that half of the people in an industry earn more than one million NT dollars a year,
but officials point out that the majority of workers in electricity and gas supply are hired by TaiPower...

Appendix for Part C (%): Excerpts of “Kery & Tesla Fp B BEIEHEAYIAFL © §f Uber,” by JEFRH (2018/12/26)

Is driving the Model S Tesla for Uber worth it? Uber driver Kery says that he does not need to pay an extra
NT$20,000 for gas each month. He can also rest when charging, and have a sense of belonging. It drives
smoothly and comfortably. Despite the high loans, it is worth it for Kery since his quality of life has improved,
and he drives his dream car to work. With careful calculation, he can live a comfortable life. If you want to
ride a Tesla, in addition to taking a test ride, you can also try your luck on Uber. Cool3c was lucky to uber a
Tesla Model S with a sun roof, leather chair, and a quite engine, which makes one feel special and honored
when sitting in the car. But why would you want to drive a million dollar Tesla for Uber? In this interview, we
interview Kery, the Uber owner of Model S. Kery expressed his satisfaction with current working conditions,
and his wife also strongly supported his decision. They felt that their quality of life improved.

Appendix for Part D: Translation of “& KIS E#EEE 2 §f 3 T E A2/ NE4ETE” (BhaH, 1/31/2018)

A total of eight candidates ran this year, including: Vice President of the Academia Sinica, Mei-Yin Chou,
former Vice President of the Academia Sinica, Fan-Sen Wang, Vice President of the National Taiwan
University, Ching-Ray Chang, former Dean of the Taiwan University College of Literature, Jo-Shui Chen, and
Professor of the Department of Electrical Engineering of the National Taiwan University, Ruey-Beei Wu, the
former chairman of the National Development Committee, Chung-ming Kuan, Vice President of Tsinghua
University, Cheng-Wen Wu, and Dean of the National Taiwan University of Electrical Engineering and
Computer Science, Ming-Syan Chen....

Y The First Stage: University Senate "Recommendation" (one round of voting): Senators vote to
"recommend" or "not recommend" each of the eight candidates one-by-one. Candidates who receive more
than one-third (58 votes) of the votes are “recommended candidates for President.” This recommendation
voting is a screening device, so as long as you pass the threshold of 58 votes, you become a recommended
candidate. Vote counting stops once a candidate receives 58 votes. As a result, Fan-Sen Wang, Cheng-Wen
Wu, and Ruey-Beei Wu could not reach 58 votes even when all ballots were counted. Therefore, the votes
for the three were completely counted; votes for the other five candidates were not counted entirely.

% The second Stage: The presidential Recruiting committee vote (two rounds of voting): 21 committee
members vote in two rounds. In round 1, each voter has to cast at least 2 votes, in which the two top
candidates advance to round 2. In fact, Chung-ming Kuan got the most votes in round 1. Ching-Ray Chang
and Ming-Syan Chen tied for the second place. The committee voted between Chang and Chen again, and
Ming-Syan Chen won. In the second round, Chung-ming Kuan received 12 votes while Ming-Syan Chen
received 9 votes. The committee declared Chung-ming Kuan the winner.

1 https://udn.com/news/story/7269/3565782

2 https://www.reuters.com/article/us-trade-tpp/pacific-trade-pact-takes-off-with-tariffs-cut-in-six-nations-
idUSKCN10T00C

3 https://www.cool3c.info/article/140027

4 https://udn.com/news/story/7266/2959886




